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TIFH WRTWTE 3TAT¥3T $8/VIKRAM SARABHAI SPACE CENTRE :
fTeaAaqTH/ Thiruvananthapuram-695022

A UREE-T & Ug U 999 &g [rsa giter
Written Test for selection to the post of Catering Attendant-A

U< 4./Post No. 1214

Tt/ Date:22.12.2012
T 319/ Maximum Marks:100 , HHA/ Time: 1 Hour 30 minutes
3rgedt &1 A/Name of the candidate et F93/Roll No.

N o o o~

10.

1.

SIS 2I/INSTRUCTIONS

The question paper is in the form of Question Booklet with 50 questions. Separate OMR sheet is provided for
answering.

Question booklets have been marked with A or B or C or D or E on the right hand top corner which shall be written
on the OMR sheet in the bo; and bubble appropriately.

Each question is provided with multiple answers a., b., ¢., and d. Only one of them is correct. Use Blue/Black Ball
point pen only for marking your answers.

Answer all questions. All questions carry equal marks.

Multiple answers for a question will be regarded as wrong answer.

Enter your Name and Roll Number correctly on the Question Booklet.

All entries in the OMR sheet should be with blue/black ball point pen oniy.

Darken the oval against which post you have applied for the examination.

Candidates are not permitted to carry any reference books, logarithm table, calculators, mobile phones efc., to the
Examination Hall. |

Candidates are not permitted to |leave the examination hall during the first hour of the examination.

At the end of the fest, both Answer Sheet and Question Booklet shall be returned to the Invigilator.
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AT HIHhTY/ Government of India
37 ReT TR/ Department of Space
forsew W STAeT F8/VIKRAM SARABHAI SPACE CENTRE

[/ Thiruvananthapuram-695022

HIAUTH TREET
Catering Attendant-A

manlalean somosasslod mlanle KIRIVIVG HDMANATINS) BB
TSI A A 9T A |

Choose the correct answer from the alternatives:

coomEMlOM ¢a3wl@ @3 agoiles alanosm aurllaclajldlesyano?
a. aloaila niooUd HSs)al

b. @REUWILOM GRINOIMROW MVOEOMOLTIDEl Miloano

C. @RBHMINGS lolso

d. anserlay@o

WA & TS Tae &t Sl T o= m4r 27

a. UREH S AT

b. 3T B AT HRATS BT I

C. ADIHI SRS

d. uredgT

From where the State Emblem of India is adapted?
West Bengal nger

Saranath Lion Capital of Asoka

Akbar’s Crown
Patliputra

an o

GRS @HHYEIMo
a. m0@a] 8

b. =eng 11

C. 8&esoend 16
d. eavalgosnid 26

fors mmer feew

a. W8

b. Ja® 11

c. IAREX16

d. Tadew26
World Food Day is:
a. March8

b. July11

c. October 16
d. September 26
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3. 22 £009" qVIGEROVIT af)(@ V@BIMo TLVIBENo DENE?

a. 74.3

b. 91.6

c. 97.2

d. 100

2 FE AT H IR — )
a. 743 '
b. 916

d. 972

d. 100

The percentage of gold in 22 carat:

a. 743
b. 916
‘& 972
d. 100
4. WENIBoERBHNAD ©eTIG?

a.  &IGRIWI0

b. eawmAenu@? -
C. OIVDIaHIMS
d

nYlelc}
A I FBE ———— B
a. Rpemoms
b. sfEw
c. - dfcemw
d. #iex

The Unit of sound is:

a. Kilograms

b. Decibel
c. Celsius
d. Metre
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ROODAOE! afgaljo MIBo @)SIVW HOAOECA! aRO?

a. af)Mag)ajd’

b. agadag)aj7

C. afMag)ajs2

d. &gl eooad

AR I AT ASTHART Bi-T7 27
TATT47

b. TATHE/

c. UATH42

d. Sat s

Which is the longest highway in India?

a. INH47

b. NH7

c. NH42

d. G.T.Road

OVaHDMAT &)S)AM@OMATVA2] VVENIBOWINAG EAINo

a. adaulesyam)

b. ®owamy

C. @0QalRPE® ©SOIIM]
d

QIL®IOTVOR|S)AN)
ATTHT gl B & IHR AT B 1
gl &
b. wedl?,
c. sraRafdd dt?
d. oRaffaadr?

With rise in temperature, the speed of sound:
a. Increases

b. Decreases

c. Remain Same

d. Changes
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% ‘NIBOA Ca00UB af)aMOTS af)avIe

a. NIaolEIBHINHDD QUdG:Io
b.  @el®mos)m mes@o
C. &0)®M0o DTIHN

d. aveimleel anssl

‘St gt T Bielt 87

a. 3INeT &1 Haid

b. U AT AR (TET ER)
c. TS UHR FHI Iehl-1US
d. T F BB

What is a “Black Hole”?
Vacuum in space

a
b. A dying star

c. A type of meteorite
d. A spoton the sun

8. ®IDP|0WANAWVI@S, AV}OY(AIBHINTWINL! oB@ @uUdalwem GIVIBIE BhENHOIOHM
2l)SOENMD?

a. @p@soaiweld ouel
b. agarSeo

C. GHoavald: oudnl

d. adnioeocl audcl

frtaRea # & g us1er Y HA-Tt RET YR 6T Bt aw g7t 27

URSRTAT T
b. - TEE-Y
c. PIRHSP FFIOT
d. 3ravEm R

* Sunlight ray that makes solar cooker hot?
a. Ultraviolet ray
b. X-ray
c. Cosmicray
d. Infrared ray

CA/12 Page 6 of 28 B



10.

80) Wl afemilmled ———  aIlosm unlauiad Tvoeailen )M o.

a. aUalodes alsd)

b. @olalatad

c.  (ofle3d

d.  quodgad

TH A S H ——— ST Jsaad grar & |
a. T @ '

b. wdte

c. Eyur

d wX

In a Diesel engine, ignition is caused through:
a. Spark plug

b. Compression

Friction

d. Starter

o

80) ala] DLIOW mgmrﬁ 9IS 2 |13 H506)ETUIU @R@IHAG Moo af)am™?

a. &0)a]

b anaig]

C. (enumend

d. algy

T &Y UK BT AT W1 A ST el &t IHBT 40 41 ghr?
PHIAT

b. @&

c. W

d B0

When a green leaf is seen in red light its colour will be:

a. Black
b. Red

¢. Brown
d. Green

Page 7 of 28
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11. ‘any@ol’ af)anomd ag)aoi?

BOO@ OO (2 IWOM WYBL SO

00O 13l nend

EOO@OMIHM @YSNAUNIGIWBS B)681E100q T3

a n oo

BOO@AHIHAF VBNV 5) AVGNAV dloHav@d

‘geAt” = 27

a. WWW@W%

b. WRA F ®les T

¢ W%mfwﬁu‘@fﬁﬂﬁg&aqﬂgﬁﬁ
d. WRA FHTEHT T T HEEA

What is “Prithvi’ ?
a. India’s main battle Tank
b. India’s field gun

India’s Nuclear powered Submarine

g 0

India’s Surface to surface missile

12, caImmenoaion ceisle:006mBdd
a. al®leow @A)
~ b. (Bajcn(moﬂemm;"(mg
C. @MY qLVAWo HIHNAM)
d. auawo eee:dleanmm)

wfit # afgat

a. UREIACHE

b. A& A

c. of® ung fEmmdt

d. THY Ut BT

In Summer, the clocks
a. Become slow
Become Fast

Give correct time

g O O

Gain Time

CA/12 Page 8 of 28
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14.

o0 oo

) TEEHIENBO6I QSN HG MSICBIIBIMEITTICI ) l06EElH61S 09N CH?

DO0VBH)EMUID 2Relo TVEEH0a lan)am)
90WENGEMUIUE Relo allaailean)an)
22610 NI0AHAINIBH)aM)
SHAUHWOAM) 2]

Tt T ST & TeAg U¥ AT T 27

a. A RS fgs AT 8
b. SEA UL ST Frare arar &

c. a&raﬁ‘%%’rm%
d 3 d s s

Why does ice float on the surface of a Jake?
a. Water contracts on freezing

b. Water expands on freezing

c. Water evaporates

d. None of these

10215 SHOGE 90 EDOMOTIELIN0 —— @RYE.
a. olewomd ©

b. e&aowead

c. a0leilwo

d. avud.nad

e 1\ 7 90 wiererd & arfs —— R

a. HRE

b.  EERST

c. Elfemw

d. s

Cooking gas contains more than 90%
a. Methane

b. Hydrogen

c¢. Helium-

d. Sulphur
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15.

af)@Baifledl milellsnzolad 9uleendsslaflalenyan aaiom)
a. 6oo

b. (BaMmo
C.. QO®o
d.

mleoail
| TS RfeT i g Ry ———— Fu A 2|
a. 3 |
b. @@
c. ™
d. ¥

16.

The content of the LPG cylinder is in the form of
a. Solid

b. Liquid
c. Gas

d. Vapour

QI0aHloUS EIVOAWNS EOTVLMORO Af)ATH
a. caOWlwo &EBIHOHOND

b. cIWIo HHAOCALISHTVAS

c. eavoal@o &odsnieemd

d. cavoalwo eemimodanicemy

FIINT FiE B1 TEEiE 7 w01 27
Hifsaw =SS

b, wifsay ETEgIEEs

CA/12

c. wifsTH FEAE
d. wifsaw agenHe

What is the chemical name of Washing Seda?
a. Sodium Chloride

b. Sodium Hydroxide

¢.  Sodium Carbonate

d. Sodium Bicarbonate

Page 10 of 28
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17

18.

1%

@O |OWIAN Y OAILITIDEI GRSITD VORI aB@?

22,28, 25,31,28

a. 25

b. 34

c. 36

d. 39

T Torwsft SieeT 1 STt TTAT BI-6 87
22, 28,25,31,:28

a 2o

b. 34

c. 36

d. 39

Which is the next number in the series?
22 28.25,.51. 318

a 20

b. 34

& 3B

d 39

2/3+1/6-1/2=

500 Olales 5 ®20Mo MloeI@ 2 QIBUEOMES TLOWIREM alefl

@yem.

a. 100 o)al

b.. 50 @)ai

c. 250 @)nl

d. 25 @l _

500 T & foTT 5 Tfred B ET T 2 Hiedl % foTg [erRoT s ——————
a. %.100

b. %.50

c. ¥.250

d. =25

The simple interest of Rs.500 for 2 years at 5 % is
a. ¥.100

b. .50

¢. %.250

d .25

A oR

178
1/6
5/6
2/3
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20.

QNS G051 GRERT LIBHOD] nBPolomBsl H@OSM I ERGOOTOEIL) WO
a. 250793

b. 2500793 |
c. 20507093
d. 2505793

a1 BT UTT AR F &5 fae ot 3iw! | fored at

a. 250793
b. 2500793
‘c. 20507093
d. 2505793

2L,

CA/12

Two crores five lakhs seven thousand and ninety three written in figure as
a. 250793

b. 2500793
c. 20507093
d. 2505793

@000} @M HBOQIE MBSIed M BBaIMOROTDW)o  ®IO® Wl
2)a|9OWFOROOM@Yo  00ILIEM.  a)BIG @D  SHBONI@  CROD:  agf)(®
ailz 0Bl 8)6ens?

a. 45
b. 48
c. 46
d. 47

TES AT BT A FRF 9 T ;R A9 ¥ 38 § ¥ W R | af 39 el & Fot &7 fbae 27

a 45
b. 48
c. 46.
d. 47

Rahul is ranked ninth from the top and thirty eighth from the bottom in a class. How
many students are there in the class?

a. 45
b. 48
c. 46
d. 47

Page 12 of 28 B



22,

23,

onoTw

IO @O al9® M HOTVEHIB)H:03 B06daNIMme 300 ©)al O_L?Zl Qﬂo;
samlad @pwowes 20 @M eioealjo 26Qoavla) 20 O@IMo  MatSao
aVoRAla)). BN MOHP|OANTIOI aB@I6M P

@RWIUIHE EI0REND MAHSEND DeNWE|
@R®oUdes 25 0)al £I0EM)M30W
@RWOUdEs 25 @)al MatiSMENE0W]
@RoUdas 20 ®)al MatiSHMN20W]

TRTE 7 IO S QI |ieheel @Y, u@E & T 300 TUT # ST, oF vl e d 3%
20 WISt T AT 3 TR A 20 U THar g | aF Frferiaa & & Si9-91 FA HEl 87

a. 3 7 TTH 3N 3T A THAH

b. 3% 25 9T T et g

c. 3% 25 BUY BT THAT g3

d. 3% 20 TUY FT THAH 3T

Sujith sold two of his old bicycles for Rs.300 each. He got 20% profit in one and 20%
loss in the other. Then which one of the following statements would be true?

a. He has no loss or profit

b. He gains Rs.25

c. HelosesRs. 25

d. Heloses Rs.20

830 coell afsad 20 Slalrve ooemee #ea 30 dlaino H:0msje ™I1BH9)o.
@ald 80)dla] @re® coell af)@ GlalTo HG:06ME §aIT®) ®Id8n0!
a. 10

b. 15
c. 6
d. 12

ue Frt H uEw 20 At A afiv arg 30 fat A w4 | afy 9E ek I A Haw Bt at 3@ Q@
w0 H fope T amiat?

a. 10 .,
b. 15
c. 6
d. 12

X can finish a work in 20 days and Y can do the same in 30 days. How long will it
take together to finish the work?

a. 10
b. 15
c. 6

d., 12

Page 13 of 28 _ CA/12



24.

23,

can2

6+[5-{4+(3-(2+1)}]-00 anely) &as)ailslen)s.

a 5
b. 6 )
o d
d 9

6+[5-{4+(3-(2+ 1)} ® Iy Reamr 27
a. b5 :
b.

o

6

7
d 9
Find the valueof 6 + [5- {4 + (3. - (2+ 1)}]
a P

b. 6
g 7
d 9

@MB) aLoaydUd 1:2 @RMalo®mOlenem. @RAI EMEIGMIS)o 7 Galdsn)emIoud
@RMalo®o 3:5 @Rdlo. af)ilod @raIv]eal el avoely ag®y?

a. 14
b. 21
c. 35
d. 28

It ST BT AU 1:2 B | ST 39 S & 7 T ST AT & 1 3:5 & Seen | v 8 at
IS A § TSt GO BE- 22

a. 14
b 2.
c. 35
d 28

Two numbers are in the ratio 1:2. If 7 is added to both their ratio becomes 3:5. Find
the greater number.

a. 14
b, 2T
& 95
d. 28

Page 14 of 28 | B



26.

27.

Damyd BAIGNG 8%l aUca1as avmas @yl 6s@:emogeEl agailos auolol

21 aNy?

a.  eMOIW)6em

b. @lo)umanano
C. ©9aNBEIMIIG
d. ealeeam

AR 3Tt foe od vienfirst e et Rua 82

a. Gelgd

b. foeadaq®

c. g

d. ==

Where is the Indian Institute of Space Science and Technology Located?
a. Dehradun

b. Thiruvananthapuram

c. Hyderabad

d. Chennai

®069a 0@ “(S) ()G aBOY

a. &o06mi

b. ee&®males

c. eilajl

d. alee

Tt & g e’ S-w1 8?
a. G

b, YEwead

c. fot

d. ™

Which of the following is a true fruit?

a.
b.

C.

d.

Orange

Pine apple

Lichi

Jack fruit _
Page 15 of 28

CA/12



28.  @aIVIGRIGIMIM afQal)o @)S)DT CaldaH®:N)LIY0) BB

a. @naol

b. ecwIomi

C. Gald8o

d.  dajelns]

Pt # R drafores e HAT® 87
a. 9 Ead '

b W
c. W
d. et

Which one has the highest nutritional value?

a. Rice

b. Wheat

c. Maize

d. Ground nut

29.  ©®089q]o@)MAITI@ ag®oem allmouilales ERASIVIBOAI0 M D3I
a. »odeaniogls; @yaslal
b. enegls: ermilaud
c.  ®@RoOIVGls @pavlal
d. avlsle agavlad

T B 3 B UphT W BT 2|

P TTh TRIS
b. ﬁﬁezstrﬁqg
c. Ul s

d. fafes tis

Which of the following gives acid property. to vinegar?
a. Carbolic acid

b. Lactic acid

Acetic acid

Citric acid

o o
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30.

al.

@omco‘)(mﬂsmg (allDd Dal(ado AR®?
a. @@avog

b. a@moyeg

C. RIXAVHN0

d. cooadleml

W T T2H SYUE BT AT 47 27

a.$¢|‘ﬁ€

b. 3MEWE
C.  HRBU

d. <ol

Which is the first satellite of India?
a. INSAT

b. Aryabhatta

c. Bhaskara

d. Rohini

80) H0M) HOBWIT af)aMIEM DENZIAN !
a. RHUMAIBIADLOEEROS Gald

b. ailel ; v

C. Gal®)QUdHUd

d. malwelo

T A F1E § T 7
a. T USRI & A
b. T

c. | HHTH

d. o

A menu card contains
a. Name of Dishes
b. Price

¢. Ingredients

d. All the three

Page 17 of 28
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32, &afaflemo af)am@ol mINweqgldles)an)?
a.  ©AYQ0)OS O]l
b.  @oajleaa]
c. &81nlon” ageRad
d. 80} (AICOIB®R0 &hiafl

FUfEAT 1 He e 27
a. e

b. Il BT @I

c. T TSl

d. Er T TE R g6

Cappuccino is related with
a. Waiter’'s Cap |

b. Coffee Cup

c. Cleaning Agent

d. A Special type of Coffee

33.  EauMean@lnd @reie All8erusR® GRyAEnem?
a. (alo@o &alanaid

b. anojaumdaod
c. @O 1eud
d.  @)5le:0d

FTR Y A R e R AT T =
a. qUIgHl Bt '

b qEiE

o wimat a

d. a=tEr

Who should be served first in a dining table?
a. Aged person

b. Gents
c.  Ladies
d. Children

CA/12 Page 18 of 28



34.

35.

@RYBIMHILIEBSEI T AMaHIM GROIANSS NW0aIBBMIN0 aRB®Y?

a. BHHN0

b. comd

C. alMeISHD

d. alemIavuoo

e Pt e et e g - 2
a TS ' ‘
b. &S

c. TS T AR

d. ==t

Which is the oldest sweetening agent known to man?
a. Jaggery

b. Honey

c. Palm Jaggery

d. Sugar

@069a]0MAIITE 0dEmo®IZ® DalWado aB®H

a.  9afERYBaf)av

b ce;o@(ssomog}'

C. alMBomd

d. madavog

ferforiea & & 9= SuuE SE-ar 27
a.  SMZANTH '

b. @R

c. gaH

d. e

Which one is the communication satellite?

a. IRS

b. Cartosat

c¢. Chandrayan
d. INSAT

Page 19 of 28
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6.

37.

28

CA/12

MNIaGlR0HOVICOMAN WID 6 alD® @RYEY UG @RYD?

a. SmoMd (alqy

b. avoeil ssoal

c.  apeidln dmoaticendal
d.  avwlo alleryjoay

TUH HiEe STARET I &7 718 a7 27
a. THARTUH

b. HAT TS

c. TATAIT BT

d. g o

The first woman went to space is:
a. Tamara Press '

b. Sally Ride

c. Valentina Tereskova

d. Sunita Williams

‘aflquo’ @es poral ag)ailes mlanoe’?
a.  @)af)aIVag)

b. egeil

c. (afomad

d. @eesmoal alodiowo

‘s’ 7o w0 & e 37 &1 22

a. JuHy

b. gt

c. Wi

d. eSS feEH

‘Pizza’ had its origin'in the country
a. USA

b. Italy

c. France

d. United Kingdom

210@ aB® EIRIOMOMR ¢3UI1Y aldMIAaEN? -
a. oMo

b. (weam

C. O8ald

d. ®njomd

1T op 291 T Ui oy 27
a. 9HId

b. e

c. =+

d. U=

Which country’s national drink is tea?
a. India

b. Srilanka
c. China
d. Japan
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89.

40.

$0a1)5TNOM MEIE2JOF g al0@MS RGO

a. a00dal awvlav s

b. c2oemlgad

c. @lallw)

d. ®@jailagad

HRIET HT AN IHH —— &7
a. =R Rwe '
b. AMEX

¢ i

d. gty

Brain of the Computer is

a. Hard disk

b. Monitor

& CPU

d. UPS

@omm(mﬂmg aV)(allo CHIS@IVIDE! MEaloPe DD allaf) ag;g‘lm‘;’

a.
b.

G,

d.

Oh.af)a). -HHalollw
0. &l NUOLIM atiemad
BRM@AOM & 6113

O, af)NS. OWIE M

W%WW%WWWEW

a.
b.

n

d.

.79, HUTSAT
.31, TAFVH
IATHH PR
. TH. TITHIH

Who is the current Chief Justice of India?

a.
b.

a N

K. H. Kapadia

K.G. Balakrishnan
Altamas Kabir
K.S. Radhakrishnan

Page 21 of 28
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41.

42.

CA/12

2OO®ODIOM @RYBY BO(Sal®] ERYG?
a. GWI. MIGR(M (alavod

b. cawo. af)a¥ EOWIBatiemad

c. Gwo. aLenld a0)eeqd
d

ail ail el
WA & T AT i A7
a. Sl &g waTg
b. Ef. TH TUBYH
d. drdrfmR

The First president of India was
a. Dr. Rajendra Prasad

b. Dr.S. Radhakrishnan

c.  Dr.Zakir Hussain

d. V.V.Giri

aqaomilen quomeandal ey

a. memlamad

b. odlmlg

c. dlaave

d. exvesad

THT & 7HF Thlg ————— 2|
a. HaT '
b. - fre -

c. T

d. #F=

The standard unit of time is

a. Hour

b. Minute

c. Day

d. Second

Page 22 of 28
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43.

44.

®069]00 MA@ aqVI0E0AE: @00 GREIOTIND AR
a. Gendoosend

b. osoav

C. HDTIHHOD

d. allwwoeialgemo

I® AT, S ATHTIH FGWE T2l 2 |

a. w3

b. Hg™

C. AT

d. TaemEugas

Which one of the following is not a natural harbour?

a. Bombay
b. Madras
c. Calcutta

d. Vishakapatanam

3l adlByaunomd a@oemogla:ad agailes qmubl@] ealg)an)?

a. &endENICO0 -

b. @8oqo®d

C. enooUIm)d

d. @RaoemEoMIOA

T Tegmam tashwe fafes wat Rua 27
Gy

b, wiamer

c. R

d. STEASER

The Hindustan Aeronautics Ltd. is situated at

a. Bokaro

b. Bhopal
c. Bangalore
d. Ahmedabad
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45.

46.

CA/12

el l03MOTIT ROOMo BaNI0 MOOM OIS

a. coxlel

b. @ndl

c. enuodell

d. cscpocmcm”

WA ¥ SEATEA | U T U E |
a. @I

b. TEA

c. S

.

India ranks first in the production of

a.
b.
g

d.

Tea
Rice
Barley
Wheat

afllnomomileel smigsasd cmsmila og® mloaoe?

a. @006l

b. ®0)q] '

C. alalaj

d. eass

FaTE STETS & A e BT T HiA-41 87

a. AR '

b. e

c. dled

d. wkg

Which is the colour of the “Black Box” kept in aeroplane?
a. Orange |
b. Black

c. Red

d.

White
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47.

48.

GB0q0eilmd @REMH0)HS BVMATIMISWIASHI® AllaHQII@ o aBd)?
a.  H0BENIEIM GRIGEMIBHONAVD

b. olee0@d eageavo qv@eemad

c. emidleilad

d. agcBailedl

et # g8 e - Rt e & o g8 o7

FTeT /AT 3fESS
b. HrTse Tut wEAES
c. hifem
d. TS

The Poisonous gas that killed many people in Bhopal was?
a. Carbon Monoxide

b. Methyl iso cyanide

c. Ethylene

d. LPG

amyatty wolOOWIOL! agQallo MIBo Sl @RI,
a. 00H:HeOYe] .

b. megei
C. ©SOWE]
d

@RANMIs]d,

T T S TR e g
o ,

b ¥

¢ R

d. uRer

The Longest Bone in a human body

a. Arm bone

b. Back bone
c. Thigh bone
d. Gullet
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49.

50.

CA/12

afQai)e alelle (Wado a0

a. alg)ego

b. enpwad

C. UOYHHM

d. aiovo

TR ST 7E HIA-91 87
a. W

b. I

c. AP

d T

The biggest planet is?
a. Pluto

b. Mercury

c. Venus

d. Jupiter

2IO@OTIOLI aBQQaljo RBMAVIBOWNBS MNQO
a. odall

b. mooemi

c.  @Boav

d. &C3OO™

R A HR FATBIO! e BT 87
a. T

b,

c. HIH

d. HaHAT

The most populous city in India is:

a. Delhi

b. Mumbai
c. Madras
d. Calcutta
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